iRe2—9 YZ=770Fx—3DFHE

(1) TRIOXD RMEXORARTHEFESNTZT 7 F = —F et Lz, Ml X1
B SALD T ED YA ICEDIMEESMERT 2,

ZOIRRETT 7 F = — X Okl ZEF I 4 mm BN S 2GA . e ofiin (Y
HhOZNE) EBITRUCIER T 206 & 3R X,

MEIX T~ TREERME T2,

(2) ZBAMONKERZMR LicEE (TRID Z LIER) . YEiOE 2SR &0 g
L. AR DIG RIS DRI EREE L, 77 F = —FRKIEKDOFE, |ARD
Bl ITBUR A MR T2

SRS DB S #1.0

Hersinly/D+E )
Y=rkcosir/o+ G )
r=20~40 & =0r/2. m.3x/4

EEEOSHElD ehE
=l Mesin( 5+ 8 )
W=lpH Jcos(n/D+ 6 )
=19~39  @=0x/2. n. 3xn/4

HAFIE ¢ 0D L TP ok ER
¢ SOME etk

s PR DR E M
Yo /3 2.0E+05 MPa
K7Vl 03
#EPE : 7850kg/m®



W&f7)  ANSYS-Workbench T EHEfi

/SO RBE RS AR

| zEB AR

JIERE(2R)
Mim¥:142706
BmEH:41104

1. @7 v

FRNTET L O R
1) AR = VEFETH T,
2) ISP RS E AL T D,
3) BEICKDIEDOAHEFAET DI, BEXZBETLHZ L,
4) ATIIRERREE LTAT v 7T LI AT 5,



PTG SR

. - mAI—ER _— sy
Lo I| | | | I I | STEAFY | FEN T (Mpa) ZERT () | YERES (T mm )
45 | MO ERETE | — 100E-02 | 0100 10.249 0.0070 -0.0006
i 200E-02 | 0200 2052 01937 -0.0011
L1 350E-02 | 0350 35928 0.3378 -0.0017
a5 575E-02 | 0575 58604 0.5453 -0.0024
5% 800E-02 | 0800 20,801 0.7441 -0.0029
E 0.11375 1138 112.78 1.0212 -0.0033
o 0.16437 1.844 157.83 1.3886 -0.0037
% 0 0.24031 2403 218.73 1.8535 -0.0041
0.34031 3.403 290,03 2.3508 -0.0052
8 ZOMBADF NSRS, BiED 0.44031 4.403 356.78 27641 -0.0072
10 SRS AELL O, KRR MBTRITL 0.54031 5.403 41832 31211 00102
e EDLERERRIBONEDLISTY, D&4031 | @403 476 76 EERE
: | ‘ ‘ | | | | | 0.74031 7.403 53287 37285
oo 0.34031 2.403 587.18 3.0063
0 2 3 4 5 & 7 ] a 10
T 0.94031 5.403 640.08 42476
1 10.000 671.1 43926
0000
\‘-—_._
=0 005
0010 \
’g 0015
g 020 Gl
M 0025
0030
ooss  GRSBOVHEREHE |
5B i A | . ]
L) 2 ) 4 5 [ fi; 8 a 10
frr 3 ()

Er

S—EREH (WP
£
(=

20

30

ZWERE (o)

40

3. ME LIS, BALEIEH DB




	問題２－９　リニアアクチェータの設計

